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A = 3x? — xy + 2y?
B = 2x? + 3xy — 3y?

@ A<B @ A<B ® A>B
@AZB ® A=B

B

A—B =3x? - xy+2y* — (2x% + 3xy — 3y?)
= x2 — 4xy + 5y?
= x% = dxy + 42 +y?
=(x-2y)2+y220

w2t A-B> 00|22 A>B
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mebA g (x) = x2 —4x+5 (x> 2) 0| B2
g(3)=32-4-345=9-124+5=2
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16, The2 U5 a.b o HH5to] [a-+ bl < lal+ bl O3 H & SHT Slolek.

(%) la+ bl > 0,lal + b] > 0 | B2
la + b < (lal + [b])* = SE5HH Hrt.
(lal + 1b1)? = la + bf?

= lal* + 2lallb| + |bI* - (a + b)?

= a? + 2lab| + b? — a® — 2ab — b?

= 2(|ab| — ab)

a4, (7H) °1 22 2(|ab| - ab) = 0

" la+ b? < (la] + |b])?

wW2tA |a + bl < |al + |b]

oq7|A, 557 AEoke A= (W) € o,
= ab >0 ¥ wjo]ct.

911 27 A (1), (ol LES AS AW 22 A2
@ lab| = ab,a = b (@)labIZab,IabI:ab
® |ab|< ab,| ab |= ab @ |ab|=ab,a=0

® |ab|=ab,a=b

(7} : lab| > ab(" labl= B F5
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(W) : 2(labl - ab) = 0L ™, = |abl = ab
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1 1 1 1 1
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25. a : b=c : d¥ W, [R7]] T
abed #0, b+2d #0, a—2b#0, c—3d# 0°]t}.)
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a b a a+2c
0=y © T bt
@ 42 _c+3d
a—-2b ¢-3d
®6 @ © ®a, 0
@©7© @@7©’®

= a(b+ 2d) = b(a + 2¢)

2ad = 2bc, ad = bc--- 3+

® (a+ 2b)(c —3d) = (c + 3d)(a — 2b)
4dbc = 6ad --- A
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